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1. c) Mars 
2. d) spawns 

ASSERTION/REASON  
3.a) Both A and R are correct.  
4.c) A is correct but R is incorrect.  
5. i) Both have hair on their bodies  
      ii)Both give birth to their young Ones.  
     iii) Both feed their young Ones.  
6.i) They have thick fur on their bodies.  
    Ii)They have fat under their skin to keep        
          them warm. 
7. Star – i) A Star twinkles  at night.  
                    ii) It has its own heat and light.  
                     iii)It does not move. 
Planet -   i) A planet does not twinkle.  
                    ii)It does not have its own heat                                                                             and 
light.  
8.     
 
 



i) Structure of Earth  
ii) Crust 
9. Amit slips on banana peel due to less frictional force. 
10.case study  
i) Arboreal  
ii) sharp claws , strong muscular limbs    and tail.            

    

             
 


